Sdf-Quiz 2 Questions
Activity Two: Constructing a Proposed Gene

Evidence Table

max sim

Exon Goordinates ESTé:DNA hawing exon
Score
-
Cgaz713 842764 1 229758938
O gaz71a 542754 1 15002733
O sazrzz sazrea 0.853 568550

(%) gazToT BazTES 0635505 32047007 FO67 147 1

O 542729 642764 5003266 20557740

O E42731 BA2TE4 28660203 2R620657

O gazras saz7ee 428814

O gazra6 642764 20635453

0642?40 G427 64 20661960

) gaan15 64218 0886 090472

Csaqn15 834281 0.ge9 568550

() ga4an15 594200 1 29635953

O 544015 644301 0868 2311137

C gaaa15 saaas1 0.ave 2442640

O gaan15 6a4352 1 5003366

544015 544395 1 15002733

C 524015 644408 0895 20635505

(5) 544015 544428 1 22047907 "

Document name: evidencetable2
Which of thefollowing statementsistrue regarding the above Evidence Table?
Those exons with an identical second coordinate are the same.
Each of the first nine exons is successively shorter than the previous exon.
The exons are organized by the EST/cDNA ID number.
The lower the Max Sim Score the better.

Some of the exonsin the table above have multiple ID numbersin theright column.
Which of thefollowing best explainsthe reason for this?

There are multiple introns interrupting these exons.

There are multiple start codons for these exons

The same exon can be found on multiple sequences

These exons are can be found in multiple species

Based on the information in the abovetable, which exon isleast likely to provide
good evidence for a proposed gene model?

642713 642764

642727 642764

644015 644218

644015 644331

Based on the information in the table above, which exon isthe longest?
642713 642764
642727 642764
644015 644218
644015 644331
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Based on theinformation in the above table, which of the following EST or cDNA
sequences contains multiple exons?

29635505

32947907

5003366

29660803

o Tr— T —_— Lo
105700 1106700 1107700 1105700 110G700

Exon A

Exon Coardinates max £im EST/eDMNA having exon
Toore

O 1105733 1105850 F2093879

) 1108400 1108574 F2B93579

O 1108751 1107385 F7959005

1
1
1

) 1107151 1107395 ! 2893879
1
1
0.

O 1108219 1108382 270230008 22003570

O 14108505 1109328 32893879

O 1108505 1110450 0999 37080003 Document Name: quiz2

Based on theinformation in the above figure, which of the following statementsis
correct?

cDNA A 1532993879 and cDNA B is 37989008.

cDNA B is 32993879 and cDNA A is 37989008.

The information in the evidence table does not match the structures in the Evidence Plot.
These two cDNA do not contain a common exon.
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y y y
o 47500 477000 477500 475000
32956047

F2992794

BO12E27 STERESE
I -—_——
242EITE BO12E28

B012390

Your Structure:

&) areno0 476333 1 2086047

) are01 a763se 0.897 22002704

O ars114 476333 0.98:3 BO12827

O arga1z areaza 0.75 5857045

O arsara 476350 0.987 2428278

) argazi 47653z 1 GO12827

(%) qrRas1 476543 1 Z20S6047 Z2002704
(%) q7aE84 476800 1 Z2O0S6047 Z2002704
®) argozo 477328 1 2086047

() areazs 477328 1 22002704

O arrao7 477328 0.812 BO128258

(%) qrrags 477500 1 22086047 32005704 601285
O arrsrz 477500 0963 SVEEEEE

) arrsvs 477500 0.96 G012200

O arrros 472141 0.982 G012200

O arrros 472144 0.985 S7EEEEE

(%) g7 7708 aTa157 1 Z20S6047 Z2002704
) arrzi0 477000 0.582 5857045

Document Name: quiz2b

Use theinformation in the above Evidence Table to determine which complete
structurein the Evidence Plot supportsthe proposed gene model.

6012827

6012828

32986047

32992794
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Sdf-Quiz Questions and Answers
Activity Two: Constructing a Proposed Gene

Evidence Table

max sim

Exon Goordinates ESTé:DNA hawing exon
Score
-
Cgaz713 842764 1 229758938
O gaz71a 542754 1 15002733
O sazrzz sazrea 0.853 568550

(%) gazToT BazTES 0635505 32047007 FO67 147 1

O 542729 642764 5003266 20557740

O E42731 BA2TE4 28660203 2R620657

O gazras saz7ee 428814

O gazra6 642764 20635453

0642?40 G427 64 20661960

) gaan15 64218 0886 090472

Csaqn15 834281 0.ge9 568550

() ga4an15 594200 1 29635953

O 544015 644301 0868 2311137

C gaaa15 saaas1 0.ave 2442640

O gaan15 6a4352 1 5003366

544015 544395 1 15002733

C 524015 644408 0895 20635505

(%) 544015 544429 1 22047907 =

Document name: evidencetable2
Which of thefollowing statementsistrue regarding the above Evidence Table?
Those exons with an identical second coordinate are the same.
Each of the first nine exons is successively shorter than the previous exon.
The exons are organized by the EST/cDNA ID number.
The lower the Max Sim Score the better.

Some of the exonsin the table above have multiple ID numbersin theright column.
Which of thefollowing best explainsthe reason for this?

There are multiple introns interrupting these exons.

There are multiple start codons for these exons

The same exon can be found on multiple sequences

These exons are can be found in multiple species

Based on the information in the abovetable, which exon isleast likely to provide
good evidence for a proposed gene model?

642713 642764

642727 642764

644015 644218

644015 644331

Based on the information in the table above, which exon isthe longest?
642713 642764 (51)

642727 642764 (37)

644015 644218 (203)

644015 644331 (316)
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Based on theinformation in the above table, which of the following EST or cDNA
sequences contains multiple exons?

29635505

32947907

5003366

29660803

o Tr— T —_— Lo
105700 1106700 1107700 1105700 110G700

Exon A

Exon Coardinates max £im EST/eDMNA having exon
Toore

O 1105733 1105850 F2093879

) 1108400 1108574 F2B93579

O 1108751 1107385 F7959005

1
1
1

) 1107151 1107395 ! 2893879
1
1
0.

O 1108219 1108382 270230008 22003570

O 14108505 1109328 32893879

O 1108505 1110450 0999 37080003 Document Name: quiz2

Based on theinformation in the above figure, which of the following statementsis
correct?

cDNA A is32993879 and cDNA B is 37989008.

cDNA B is 32993879 and cDNA A is 37989008.

The information in the evidence table does not match the structures in the Evidence Plot.
These two cDNA do not contain a common exon.
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y y y
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Your Structure:

&) areno0 476333 1 2086047

) are01 a763se 0.897 22002704

O ars114 476333 0.98:3 BO12827

O arga1z areaza 0.75 5857045

O arsara 476350 0.987 2428278

) argazi 47653z 1 GO12827

(%) qrRas1 476543 1 Z20S6047 Z2002704
(%) q7aE84 476800 1 Z2O0S6047 Z2002704
®) argozo 477328 1 2086047

() areazs 477328 1 22002704

O arrao7 477328 0.812 BO128258

(%) qrrags 477500 1 22086047 32005704 601285
O arrsrz 477500 0963 SVEEEEE

) arrsvs 477500 0.96 G012200

O arrros 472141 0.982 G012200

O arrros 472144 0.985 S7EEEEE

(%) g7 7708 aTa157 1 Z20S6047 Z2002704
) arrzi0 477000 0.582 5857045

Document Name: quiz2b

Use theinformation in the above Evidence Table to determine which complete
structurein the Evidence Plot supportsthe proposed gene model.

6012827

6012828

32986047

32992794

PDF created with pdfFactory trial version www.pdffactory.com



http://www.pdffactory.com

